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Sy 22 DXR 310 DXR 300

71 AN

M, kw 22 22

=2f kg 2020 1960

/et = A2, m* 5.5/5.2 5.5/5.1

= x 22o=/0t2Ez| A e oleEz|7

Az Al/H AZ A NEXCEEEE:) B Al Al

S2F 50/60Hz, I/min 75 75

A|AE QM3 X|C HE Bar 200 200

A|AE QM XL =7} Bar 250 250

SA|AEOf CHSHZHH R-2F I/min 0-75 0-75

Hz /Y M DAEHD MY IAEEHE

Z, 71A4 24, mm 780 780

20|, 7| A 24|, mm 2057(0tR E 2|7 =3 2057(0tR E2|7 =gl

=0[, 7|A 2, mm 1035 1035

2|2A =0 =L

4 SRE2 E=A0E EREA EEFo|E

Ho| 2 M %|CH 100m #%|CH 100m

=R
965 99 53-02 967 19 56-01
965 99 53-06, 29 7|5 T 7| X[ (P1) 967 19 56-02, §¢ 7|5 I 7| X|(P1) =&t
st 967 19 56-03, "7’HH9|X|(P2 -
965 99 53-07, Wzt mj7|X|(P2) =&t 967 19 56-04, ¥ H & 1j|7| X|(P3) =&t

=
iii iﬁ ii_"i [o:] i"i _ii i 'iii i'é‘}

* 90t 70|7{ SB 302 (DXR 300), SB 202 (DXR 310, DXR 270), SB 152 (DXR 140)S ZHAIS10] 7| H| Q| 22 A|Cj5+ EHRtsH ALEROf| A X8t 3| H S A0 A XFEE7| BIFR| 9] 2.
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S kg

0 & &, mm
2213, kN/t

Z¢ Zof,mm

2t} AFO[= (7)), mm
HEHE

=58

DCR 300 DCR 100 EZES

274 192

430 425*/325**

440/45 335/34 2 20| 2| (X|T) E 2

317/32 AKX M 22 AlZD)

200 193** AU BEYE ST Ot
0|

30 28

DXR 310/300/270 DXR 140

966 78 64-01, T A Gl

, 966 78 63-01, A 4l
Ol™E E20|E =g

Of & E30|E =3t

*9l % gIX|o T. Ui ¢lX|o| B

—_ 2 =

7= N

T kg

Z|o & 2, mm
X|CH 2242, kN/t
A Z20[,mm
AT HE RS
gl/m 20t mm/inch
ZtA, mm/inch
I}to| =, mm/inch
22 mm/inch
U-!, mm/inch

2y

m[OomH

o

DXR 310/300/270/140

E™E

THo

DCR 3008 J2M Tj = DCR 1008 3 3{A T =

D 00 DCR 300 <&

aaqu E _579 02 65-

01

185 [DCR300 Ofuj 22
200 EEES 579 01 85-
841/85.7 2|8t HE oIx| 579 00 93-
135

[DCR 100 MME
IPE 120(120 x 64/4.7 x 2.5) AN TE (5)719 02 66-

30 x 30/1,18 x 1,18

75 x 5.0/2,95 x 0,20

60 x 60 x5.0/2.4 x2.4x0.2
UPE 100(55 x 100/2.2 x 3.9)

DCR 100 OjH] &=
2|Ht HE x| 579 02 42-
01

DSS 200 OfH| 2=
78 galol=, A 587 01 94-
7{g galol=, 3 587 01 95-

967 27 80-01, SA 4! O HE]
EY0|E 2

DXR 310/300/270 DXR 140
EEN - - N T

IEME
2F
=}

B, kg 90 70 50 60 58 50
=, mm 770 520 300 770 520 300
8,1 105 85 40 60 55 40
EEZE
587 97 57-01 587 3107-01 587 31 08-01 58731 09-01 587 3110-01 587 3108-02



azieix

HE[ JafEa MG 200 MG 100
71& M

52, kg 175 90

Z|cH = A2, mm 750 600

&, kN/t 15/1.5 5.9/0.6
= mm 450 300

AYHE
DXR 310/300/270 DXR 140

=E2ER

ol

586 74 29-01, =

586 74 30-01, A 4 A
o{RHE] ZE0IE Z#

O{HE{ ZB0IE Z 3

Iy

=0 SB 302 SB 202 SB 152

7| MY

5, kg 300 200 140

HEHE
DXR 300 DXR 310/300/270 DXR 140

2R
586 50 13-01, &4 & 522 48 24-01, 34 4 576 18 91-01, 22 U
o{RHE] ZB0|E E?:. o{HE| Zalo[E T8 o{HE| EdloE E 3
587 05 02-01, ¥ £, 54 580 90 21-01, ¥ E3, 34
o ofhE] Z20|E 3 2 o{RE| Z20|E Z3

dxtg xE HoxE RUIOE XF LR 1=
SB 302 AM|AMz2] =2 AHE DC 200
20|HB Y EE FIE 586 70 28-02
Ml
AxHE x| Z, 80 cm 586 50 11- —
BH X|Z, 77 cm 586 50 12- :'E”—Eézly kg 200
29 ZOIE X|Z, 80 cm 586 50 10- MH Z 72 5=, mm 500
z = 7E £ =E, mm 240
2 ZQlE X|Z, Ch, 100 cm 586 50 10-02 T = S,
salge 590 15 25-03 = N %6
238 #4715, #d 583 80 72-02 J-“:H 71824 @ 350 bar, kN 12.6
| E3 @ 350 bar, kNm 1.4
SB 202 WM ME| Z|cH ek ZE, MPA 25
HYEHE Y ES JIE 586 70 26-02 HEH =
AlIZHE X|Z, 60 cm 522 86 95-02 DXR 310/300/270/140
M K|S, 65 cm 522 86 95-03 sEHy
29 ZQIE X|Z, 60 cm 522 86 95-01 © }
2 ZQIE X|Z, Cf, 90 cm 522 86 95-04 583 80 70-01, 4 3
e o{HE{ Z20|E 23
fdne 590 15 25-
BT #A FIE, S 583 80 72-02

SB 152 K M2

|

A X|Z, 51 cm 576 63 35-02
M X|Z, 48 cm 576 63 35-03
2 ZQIE X|Z, 51 cm 576 63 35-
24 e 590 15 25-
BT LA 7E, #HH 58380 72-
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Husgvarna DXR 310/DXR 300/DXR 270
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BAZ2 J|E Y BS 07| K|** 582 71 54-
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